QID:1-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

ot o # feu o Rpeut # T Uy B
(?) & T WX HE Aol TEAT F FAT

5| 6 |3
7|7 |91
8| 6 | 51
4 | 4 ?

Options:

1)22

2) 20

3)27

4)34

Correct Answer: 20
Candidate Answer: 20

QID:2-
How many rectangles are there in the given figure?

& TS e F fFaa M B

Options:
1)6

2)7
3)9

4) 10
Correct Answer: 9
Candidate Answer: 9




QID:3-
A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represenled first by ils row and next by its column, for example, ‘J” can
be represented by 42, 87, etc., and ‘N’ can be represented by 04, 89, etc.
Similarly, you have {o identify the set for the word “JECT".

T QG hael U TEAT-AAg g0 ooftar waw &, ol 5 [aeedt & @
TR T F Rar T &1 Rdeul # By IV FEan-aes 3R & o @it
TR oW AT R, o 5 Bu v oy anegg # ¥ eyl & ' 3R
ufer fr dwar 0 & 4 ¥ 3 g & 5 8 91 3 IR @ T e
o Upet Ot Ul R g F o S G gl smoawar
3erAvT & fow <0 @Y 42, 87 307 gR1 g S T@war § TUT N' @ 04,
89, 3nfe grr oefar o @war &1 @ ate A/ o uw F Ru e
“JECT” & fAw mag o ueamEeam B

Matrix-I Matrix-li

Il Iegg-ll
al1]2[3(4 516|7]8]9
O|A|E|T|S|N 5|1 Z|G|wW|[I|Q
1|L|M|I|C]|I 6|YIM[B|T|A
2IUIE|S|V|X 7iL{alZ|Y|(D
3|ID|[G(W|L|R 8|F|E|[J|[T|N
4|10[(K|[J|C|2Z gluUlI|Y[V]X

Options:
1) 42, 01, 88, 21

2)87,21,02,02
3) 42, 86, 13, 68

4) 23,21, 43, 88

Correct Answer: 42, 86, 13, 68

Candidate Answer: 42, 86, 13, 68

QID: 4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& I 3 APl A B 3H 39 A B gaw
orw & oy agpfa Bfta %

/0 |




Options:
1)

2)

Correct Answer:

\l/

Candidate Answer:

QID:5-

Which answer figure will complete the pattern in the
question figure?

B T 3 HFA TF HFHIA & UAST Bl [
HL?

ZARN
? 1/




Options:

X

2)

3)

4)

Correct Answer:

N\

Candidate Answer:

N\

QID: 6 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE T TUUT w1 AB T@T W T@T ST, & & T
T ATEaAr # W Hid W A WY G B
g ufafas gefre

Jv

20l

A

B




Options:
1)

Correct Answer:
V \L
I
Candidate Answer:
v \L
I

QID:7-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & wy spod # R gErR e @
Az Deel aUT Wil & alg a¢ hd 3o HTgia
s fears gem?

< 1B |

P et mimra e o A ks s e o W e -



Options:
1)

2

3

4

L] R (=] =

Correct Answer:

]

Candidate Answer:

QID : 8 - By interchanging which two signs the equation will be correct?
6+11+87x3-6=89
ToheT & RIE=T &t 399 H RER FEelel TR THIHIOT TeT gl SITuan?

6+11+87x3—-6=89
Options:

1) +and +

+ AT +

2) + and -

+aur -

3) xand +

X AT +

4)-and +

9 Hgn— =

Correct Answer: x and +
X TRT +

Candidate Answer: x and +
X AT +

QID:9-If7@3@1=317and9 @ 0 @ 2 = 029, then

5@2@0=7?
IE7@3@1=317aU9@0@2=0298&,ar

5@2@0="?
Options:

1) 205

2) 502

3)25

4)52

Correct Answer: 205
Candidate Answer: 205




QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Apple

2. Apply
3. Application
4. Arctic
5. Arabic

TAFATATRICT Qreel AT AEHIA F 37T dTel A o AR fered |

1. Apple
2. Apply
3. Application
4. Arctic
5. Arabic

Options:
1) 23154
2) 21354
3) 12354
4) 13254

Correct Answer: 13254
Candidate Answer: 13254

QID : 11 - In the following question, select the missing number from the given series.
0,3,8,15,24,?
TerAfaiee yea # U 1w fashedl & & vt 37 A1 HIioe|

0,3,8,15,24,?
Options:

1)37

2)35

3)34

4) 36
Correct Answer: 35
Candidate Answer: 35

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AD, BE, CF, DG, ?
Teh 37eTehe 18T 1T &, T & Teh e ool ©| U 91¢ fashedd 3 & @ WEl fashed AT, it 3feTshat I U |

AD, BE, CF, DG, ?
Options:
1) EH

2)E)
3) DH

4) FL
Correct Answer: EH
Candidate Answer: EH

QID : 13 - In the following question, select the odd word from the given alternatives.

el yea # Re a1v Rewed & & v aeg 1 gfaw
Options:

1) Wall

AEIcy

2) Roof

Bd

3) Window

f&sdr

4) Floor

o

Correct Answer: Window
fagdr

Candidate Answer: Wall

CACIEY

QID : 14 - In the following question, select the odd number pair from the given alternatives.




Options:

1)22-28

2)13-19

3)15-20

4)20-26

Correct Answer: 15 - 20
Candidate Answer: 15 - 20

QID : 15 - In the following question, select the odd letters from the given alternatives.

At geer # faw 1w fashedl # @ fawe 3Ri = gfv

Options:
1) 7X

2) DC
3)RQ

4) ML
Correct Answer: ZX
Candidate Answer: ZX

QID : 16 - Identify the diagram that best represents the relationship among the given classes.

Engineer, Male, Clerk

T 3N AT S A e 31w geit 3 ey & daer w1 @ Fwwor e ¥

Ffrar, 7o, A
Options:

1)

2)

od | &

o

Correct Answer:

&

Candidate Answer:

&

QID : 17 - In the following question, select the related word from the given alternatives.

Knife : Cut: : Tape: ?
AT e # 7o ¢ fashed # @ Haiftra ereg 1 giaw|

g FlEAT: 1272 ?




Options:
1) Break

GlEC)

2) Join

EIECH

3) Quiet

enid

4) High

S

Correct Answer: Join

EIEC))

Candidate Answer: Join

IECH

QID : 18 - In the following question, select the related number from the given alternatives.
7:64::9:?

AT e # o ¢ fashed # @ Heftra dean # giv

7:64::9:?

Options:

1) 100

2) 108

3) 121

4) 144
Correct Answer: 100
Candidate Answer: 100

QID : 19 - In the following question, select the related letters from the given alternatives.
RAINY : YNIAR: : WINTER : ?

Tt sea # U a1e et 3 & waftra 3Rt w1 g

RAINY : YNIAR : : WINTER : ?

Options:

1) RETNIW

2) RETINW

3) RETWIN

4) RTENIW
Correct Answer: RETNIW
Candidate Answer: RETNIW

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.

LEGENDARY
fAETafed fasmedl & & g Wee AT St T 10 2reg & 31aRT T T1T X 6T Gofrar S Fehell|

LEGENDARY

Options:
1) RAID

2) LAND
3) GENE

4) RAY
Correct Answer: RAID
Candidate Answer: RAID

QID : 21 - Pis 2 metres west of Q. R is 2 metres north of Q. S is 4 metres east of R. T is 6 metres south of S. In which direction is T from P?

PQU2ATIRaA A FIR, QU 2 HX SeeR A §IS, RT4HT T AT T, ST 6 A afdor ¥ §1 T, P& Frw fam a1 82




Options:

1) North-West

ScaR-ufdaH

2) North-East

SR

3) South-East

AR Cf

4) South-West

giaor-afeas

Correct Answer: South-East
ARG

Candidate Answer: South-East

T
QID : 22 - Ais brother of B. C is sister of B.D is father of B. E is wife of D. How is B related of E?

A, BHTS §1C, BHragT g1 D, BH RAar €1 E, D I 9=l §1 B, E & for IR T &2
Options:

1) Son

™

2) Daughter

el

3) Father

Ryar

4) Cannot be determined

AT A&T foham ST "ehar

Correct Answer: Cannot be determined
AT G R T ST Fehall

Candidate Answer: Cannot be determined
AT FET [T ST IR

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
1. No circle is square.
II. Some squares are rectangles.

Conclusions:
1. Some circles are rectangles.
II. No circle is rectangle.

e T 91T SR F Fov FUA 3R 379 a1 3T FYAT R IR Fo T {u 1w §, grefifen 3ot @ A avat § fBiewrar gt g §1 @ o o3 3ik fe
i ¢ o fow a1 wie & forsan, R aTv Freai 3 3R R gferawiard 8

HYe:
L. &1 g, a9 T 81
1L & a9, 3 B

fosay:

L F& ged, 3 B

II. 7% Jedl, I 161 o

Options:

1) Only conclusion (I) follows.

ehael fasHy (1) T

2) Only conclusion (II) follows.

el forset (11) wEY &1

3) Both conclusion follow.

2t & sy Tl €

4) Neither conclusion (I) nor conclusion (II) follows.

1 oY fovsey (1) 7 & sy (1) Tdr ¥

Correct Answer: Neither conclusion (I) nor conclusion (II) follows.
A ar faswd (1) o & fsewd (1) wé &1

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

s (1) o & s (1) I ¥

QID : 24 - In a certain code language, "PARDON" is written as "QCUEQQ". How is "SANDAL" written in that code language?

% fafdrse iz s ¥, "PARDON" Y "QCUEQQ" forr ST &1 3T g 49T 3 "SANDAL" &I o YR o sireen?

- e ——————— ———
[t comim s AT ottt e 2 S Y WM =7 I



Options:
1) TCQECO

2) QCSDCO
3) OQBXRV

4) HZMWZ0
Correct Answer: TCQECO
Candidate Answer: TCQECO

QID : 25 - In a certain code language, "TEAR" is written as "40" and "TIFF" is written as "37". How is "FIRE" written in that code language?

s fAferse iz 9T &, "TEAR" &l "40" a2 "TIFF" &1 "37" forar Siar §1 59 s $1wr & "FIRE" &1 fovd wenr for@r simwem?

Options:
1) 36

2)30
3) 33

4) 34
Correct Answer: 34
Candidate Answer: 34

QID : 26 - Rahul is 4 years younger than his elder brother Shyam. Rahul also has a sister who is 3 years younger to him. What is the difference between the age of
Rahul and the average age of the three siblings?

ugama?aéwmﬁ4wzﬁa%| ugsraﬁrwag?rsﬁ%, S 36 3 1T B Bl I@ﬂﬁﬁq}ﬁ?ﬁﬂé—@@ﬂﬁmﬁmﬂﬁmwp
Options:

1) 6 months

6 7L

2) 4 months

4 T

3) 2 months

2 AQ

4) 8 months

8 7=

Correct Answer: 4 months

4 7

Candidate Answer: 4 months

4 7E=T

QID : 27 - Reshama bought a showpiece for Rs 629 with a discount of 15% on the marked price. Find the marked price of the showpiece.

LAAT & T A N 31 Hed W 15% T 9 & a1g 629 T H wliar| o N F 3ifha qew gam|
Options:

1) Rs 740

740 %

2) Rs 820

820%

3) Rs 840

840 %

4) Rs 880

830 %

Correct Answer: Rs 740
740 %

Candidate Answer: Rs 740
740 ©

QID : 28 - A does a work in 20 days and B does the same work in 30 days. In how many days they together will do the same work?

A T A T 20 T F Har & 3R B 34 &1 &r 30 Tl 7 9 e &1 et e 36 e B e feal & qur e e
Options:

1) 10 days

10 f&=t

2) 16 days

16 f&=t

3) 12 days

12 feet

4) 14 days

14 &

Correct Answer: 12 days

12 fear




Candidate Answer: 12 days
12 f&er

QID : 29 - A vendor offers 18% discount on a computer table with a marked price of Rs 6400. If he still earns a profit of Rs 800, what is the cost price of the table?

Tep: fashell 6400 @ 3ifeheT Hedr aTel Teh FHTgeX Eael W 18% T &alT &1 3FR AT 411 a8 800 T =T W1 AT &, Al Sael T T Fod FAT §7?
Options:

1) Rs 5600

5600 ¥

2) Rs 5618

5618

3) Rs 4448

4448 %

4) Rs 4940

4940 T

Correct Answer: Rs 4448
4448 T

Candidate Answer: Rs 4448
4448 %

QID : 30 - If a principal amount becomes Rs 2,07,360 in 4 years with a compound interest rate of 20% per annum, then what is the value of principal amount?

AfE IS FAL 4 T¥ 7 20% ATS THGFG AT T & ¥ 2,07,360 T &1 ST §, A FALIaT T Al FT GroN?
Options:

1) Rs 111000

111000 &

2) Rs 110000

110000 ¥

3) Rs 120000

120000 ¥

4) Rs 100000

100000 ¥

Correct Answer: Rs 100000
100000 &

Candidate Answer: Rs 110000
110000 &

QID : 31 - The total surface area of a cube is 864 cm?2. What is the volume of this cube?

TS T T GFOT 55 A 864 YA §| SH Tl T IR T 67
Options:

1) 1728 cm3

1728 a3

2) 1628 cm3

1628 d#3

3) 1528 cm3

1528 T3

4) 1828 cm?

1828 T3

Correct Answer: 1728 cm3
1728 T3

Candidate Answer: 1728 cm3
1728 d+3

QID : 32 - The smallest 3-digit prime number is i

3 3{eht T FI BT HATST HE&AT &l

Options:

1) 103

2) 107

3) 109

4) 101

Correct Answer: 101
Candidate Answer: 101

QID : 33 - An insurance company pays Rs 3,24,000 after a new car worth Rs 4,50,000 gets completely damaged in an accident. How much percent of the car is
insured?

T AT HFT=IT 4,50,000 z?nﬁﬁmﬁém%gﬁmﬁ@mﬁﬁﬁmamézwuwoo T T ST TR T AT FM ¥ R el gfrerd i &2




Options:

1) 72%

2) 82%

3) 76%

4) 78%

Correct Answer: 72%
Candidate Answer: 72%

QID : 34 - A cloth seller sells 50% of his particular stock for a particular item and recovers the cost price. What will be his profit percentage after selling the
complete stock, if he continues to sell rest of his stock at the same price?

Tk T Tashell TEHT % 3= ol @ Feieh T 50% ST 3T 5hel Fed T el &1 3R T S §U FLIeh I I e T ATAT ST TCell &, Tl [ FCI6 qe 5
q1E 3GhT olTeT Ffaerda «ar grem?

Options:

1) 100%

2) 50%

3) 200%

4) 150%

Correct Answer: 100%

Candidate Answer: 50%

QID : 35 - The monthly salaries of A and B are in the ratio 6:7. If both of them get a salary increment of Rs 5000 per month, the new ratio becomes 7:8. What is
the new monthly salary of A?

A T B & FITReh dclell T 37T 6:7 ¥ 1 3R @leii T 5000 & ¥ #1ieh dcit gig fArerely &, ol 71T 31eIonel 7:8 &Y STl &1 A 7 =727 #iflieh el 3T &2
Options:

1) Rs 30000

30000 %

2) Rs 32000

32000 ®

3) Rs 35000

35000 %

4) Rs 40000

40000 &

Correct Answer: Rs 35000
35000

Candidate Answer: Rs 35000
35000 ®

QID : 36 - A truck covers a distance of 1800 km in 40 hours. What is the average speed of the truck?

T g 1800 forall. T gt 40 € & gl e §1 goh Y i aifer sk §2
Options:

1) 45 km/hr

45 fora. [eier

2) 40 km/hr

40 foraY. feier

3) 60 km/hr

60 fopetT, /eier

4) 50 km/hr

50 foraT./eier

Correct Answer: 45 km/hr
45 fora. [eier

Candidate Answer: 45 km/hr
45 TR, [eieT

QID : 37 - A number when divided by 18 leaves a remainder 9. When the square of the number is divided by 9 the remainder is .

T TET FT 18 ¥ fqanfad itet X 9 AV a2l &1 S 39 &7 & J97 1 9 § fqanfad frar Snar &, ar el B

Options:

1)1

2)2

3)3

4)0

Correct Answer: 0
Candidate Answer: 0

QID : 38 - What is the unit's place digit in the product (654 x 313 x 411 x 734)?

0T (654 X 313 X 411 x 734) & SHIS 37 FAT §?

Options:
1)1
2) 4
3)8 - -
a\ > I e e ol Lt St e




Correct Answer: 8
Candidate Answer: 8

QID : 39 - The sum of 13 consecutive integers is 13. What is the lowest integer?

13 TRTAR oiies FEaT3it &7 AT 13 §| Fo SIcT [oiie TEar F4T §2

Options:
1) 4

2) -5
3)-2

4)-3
Correct Answer: -5
Candidate Answer: -5

QID : 40 - Mohan and Sohan walk at average speed of 1 km/hr and 1.5 km/hr respectively. If Mohan walks in South direction and Sohan in East direction beginning
from the same origin at the same time, what will be the distance between the two after 6 hours?

FigeT YT Hig=T A1 ferali/eer 3R 1.5 Theli/der T 3ic a1 & egerd €1 3R HigeT &iaior hi fexim & 3R TigeT X 1 g1 H T &1 feig & weh & Ty # FefaAr
IFH FRA €, A 6 HE a1 gl o drer BT gQr o gei?
Options:

1) 3V13 km

3V13 et

2) V39 km

V39 fReT.

3) V10 km

V10 freT.

4) V127 km

V127 far.

Correct Answer: 3V13 km
3V13 R,

Candidate Answer: V39 km
V39 fReT

QID : 41 - What least number must be added to 2530 so that the sum is completely divisible by 27?

2530 # H & FH el HE&AT SA5e AT arfeh Fer Arer 27 § qoT 9= & Se?
Options:

1)8

2) 26

3) 10

4) 12

Correct Answer: 8

Candidate Answer: 10

QID : 42 - Rajiv's salary was reduced by 20% in a year and subsequently increased by 30% the following year. What is the overall percentage change over the
original salary?

Tl 3 et 3 T & 20% A HT g% 3T 30 3reTer I 30% 1 Y §§1 30 Aol At 3 Fhcaey afcaRret 1 waey aRacir gam?
Options:

1) 24%

2) 4%

3) 10%

4) 6%

Correct Answer: 4%

Candidate Answer: 4%

QID : 43 - A fruit vendor buys a dozen coconut for Rs 480. What should be per pair price so that he can earn 20 percent profit?

Ta el el Teh Gotet Naer 480 % 3 Tigar §1 39 Wil St AR o s o T TET A1fg T difer ag 20 FicRre et Far Jah?
Options:

1) Rs 48

148%

2)Rs 92

922%

3) Rs 96

% ¥

4) Rs 94

943

Correct Answer: Rs 96
%%




Candidate Answer: Rs 48
ERED

QID : 44 - X can do a piece of work in 40 hours. He works at it for 8 hours and then Y finishes the work in 16 hours. How long will they together take to complete
the work?

X T 1 T 40 ©E 7 T TRl &1 X F 8 T FH Hel o 16 Y 3H 1A Hl 16 T F T AT ¢ SNt A1 AR 36 1A 1 ferer €S 7 0 81
Options:

1) 15 hrs

15 &

2) 20 hrs

20 8¢

3) 13%hrs

13% |¢

4) 12 hrs

12 5

Correct Answer: 13% hrs
13% u¢

Candidate Answer: 13% hrs
13 &

QID : 45 - How many whole numbers are there between 34 and 242 which are exactly divisible by 6?

34 3R 242 F @1 6 ¥ 7 e Y ey @ Frel ot JEATd fRaed §?
Options:

1) 35

2) 36

3)37

4) 38

Correct Answer: 35

Candidate Answer: 35

QID : 46 - If Rs 2574 is divided in the ratio of 3:8:10:12 among A, B, C and D respectively, what will be the share of D?

Ifg 2574 T T A, B, C T D & Srer 3:8:10:12 % 3earer #F fenforet foam Sirerm &, D &7 a77e7 a7 gham?
Options:

1) Rs 966

966

2)Rs 936

936%

3) Rs 933

933%

4) Rs 999

999§

Correct Answer: Rs 936
936 %

Candidate Answer: Rs 936
936 %




QID:47-

A college collects Rs 180 Crores of funds from different sources.
Answer the question below based on the fund collection share from
different sources as in given the pie chart below.

T Fplidedrerd fafflest il & Fel 180 XI5 & I relralr
R Serar §1 Peff@a vea o3 ars 9 7 guiv e
fafaresr Tfer Siar & et & gafaa sesh & 3maR @ &

T e,
S N
25%
/ 35% '
f‘
s‘} \\ T e ??ﬁ}
\ A "\
N v 15%
N

O Tution Fee/TH B E

B Consultancy Projects/fdecal Fiside
U Research Activities/2iteT Irfafaferat

B Endowments/3TeigIeT

O Government Aids/8EFRT HBRIAT

What is the amount of fund collected through Consultancy Projects and Research Activities together?

FHcear mﬁm%mmﬁﬁwﬁmﬁm@ém
Options:

1) Rs 20 Crore

20 BT

2) Rs 30 Crore

30T

3) Rs 36 Crore

36T

4) Rs 27 Crore

27 I T F

Correct Answer: Rs 36 Crore
36T

Candidate Answer: Rs 36 Crore

36 ST




QID: 48 -
A college collects Rs 180 Crores of funds from different sources.
Answer the question below based on the fund collection share from
different sources as in given the pie chart below.

T Fplidedrerd fafflest il & Fel 180 XI5 & I relralr
R Serar §1 Peff@a vea o3 ars 9 7 guiv e
fafaresr Tfer Siar & et & gafaa sesh & 3maR @ &

T “‘\.\\

25%

O Tution Fee/TH B E

B Consultancy Projects/fdecal Fiside
U Research Activities/2iteT Irfafaferat

B Endowments/3TeigIeT

O Government Aids/8EFRT HBRIAT

How much amount is collected from endowments?

Feger & fercialr TRY STers e
Options:

1) Rs 36 Crore

36T

2) Rs 18 Crore

18 ST

3) Rs 30 Crore

30T

4) Rs 40 Crore

A0 FTTE

Correct Answer: Rs 36 Crore
36 ST

Candidate Answer: Rs 36 Crore

36 ST




QID:49-

A college collects Rs 180 Crores of funds from different sources.
Answer the question below based on the fund collection share from
different sources as in given the pie chart below.

T Fplidedrerd fafflest il & Fel 180 XI5 & I relralr
R Serar §1 Peff@a vea o3 ars 9 7 guiv e
fafaresr Tfer Siar & et & gafaa sesh & 3maR @ &

T e,
S N
25%
/ 35% '
f‘
s‘} \\ T e ??ﬁ}
\ A "\
N v 15%
N

O Tution Fee/TH B E

B Consultancy Projects/fdecal Fiside
U Research Activities/2iteT Irfafaferat

B Endowments/3TeigIeT

O Government Aids/8EFRT HBRIAT

What is the difference between the amount collected from Government Aids and Tution Fee?

AR HrIdT AR I B & TR 1 15 ARV & &ffel Fohelet h ek §?
Options:

1) Rs 60 Crore

60 T

2) Rs 100 Crore

1003 %

3) Rs 10 Crore

10T

4) Rs 36 Crore

36 WIS %

Correct Answer: Rs 36 Crore
3BT

Candidate Answer: Rs 36 Crore

36 ST




QID : 50 -
A college collects Rs 180 Crores of funds from different sources.
Answer the question below based on the fund collection share from
different sources as in given the pie chart below.

T Hglidearer fafelesT Tl § el 180 U5 T HT Hrelle
R Serar §1 Peff@a vea o3 ars 9 7 guiv e
fafeeer ofer Siat & et & gafag 3mest & 3maR W &l

T —‘\\
25%\

SO
O Tution Fee/TH B E
B Consultancy Projects/fdecal Fiside
U Research Activities/2iteT Irfafaferat
B Endowments/3TeigIeT

O Government Aids/AEHRT AgRI

If one-third of the fund collected from research activites is invested in research development facilities at the college, how much total amount is invested in research
development facilities?

I elter st & vl vk foigrs iRy siorst # <iter fashrar <t giaenait o forder frar simar g, ar aver faenrr giaenail & farcr gor TRY w1 fader o sirar 82
Options:

1) Rs 9 Crore

9T T

2) Rs 40 Crore

40T

3) Rs 36 Crore

36T

4) Rs 24 Crore

pLE RS

Correct Answer: Rs 9 Crore
PETER]

Candidate Answer: Rs 9 Crore

CERIEE ]

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

The Government should deploy an adequate (1)/ number of security personnel to maintain law or (2)/ order during the next fortnight at the holy place. (3)/ No
error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 2

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

Aviation is important, both as an industry in its own right and as a facilitator for the (1)/ success and competitiveness of other industries. The success of the
aviation industry (2)/ is also integral to national competition, economic developing and social progress. (3)/ No error (4)




Options:
1)1

2)2
3)3

4)4
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

A lander chief was to her by him.
Options:

1) handing

2) handed

3) hands

4) rand

Correct Answer: handed
Candidate Answer: handed

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

The dog was with a stick.
Options:

1) clapped

2) smiled

3) hit

4) curled

Correct Answer: hit

Candidate Answer: clapped

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Perky

Options:

1) Cheerful

2) Depressed

3) Gloomy

4) Quiet

Correct Answer: Cheerful

Candidate Answer: [ NOT ANSWERED ]

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Sordid
Options:

1) Dirty

2) Reputable
3) Good

4) Honorable

Correct Answer: Dirty
Candidate Answer: Honorable

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Tryst

Options:

1) Meeting

2) Abstain

3) Cease

4) Decline

Correct Answer: Meeting

Candidate Answer: Abstain

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Contribute

Options:

1) Provide

2) Take

3) Add

4) Afford

Correct Answer: Take
Candidate Answer: Add

- e ——————— ———
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QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Divulge
Options:
1) Admit
2) Conceal
3) Blab

4) Declare

Correct Answer: Conceal
Candidate Answer: Declare

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Scoff
Options:
1) Contemn
2) Praise
3) Discount
4) Belittle

Correct Answer: Praise
Candidate Answer: Praise

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Add insult to injury

Options:

1) To act in a way that makes a displeasing situation worse
2) Talking behind the curtain

3) Be punished severely

4) To state something very concisely

Correct Answer: To act in a way that makes a displeasing situation worse
Candidate Answer: Be punished severely

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

All ears

Options:

1) Listening intently

2) Spending carefully

3) Ignoring purposely

4) Getting irritated

Correct Answer: Listening intently
Candidate Answer: Listening intently

QID : 63 - Improve the bracketed part of the sentence.

Take a ferry or a boat instead of a bus to (reaching) the Kravi islands faster.

Options:

1) reached

2) reach

3) reaches

4) No improvement

Correct Answer: reach
Candidate Answer: reach

QID : 64 - Improve the bracketed part of the sentence.

(On) many of them, politics has intruded into campus life, influencing academic appointments and decisions across levels.

Options:

1) At

2) Inside

3) Over

4) No improvement
Correct Answer: At

Candidate Answer: At

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

The yearly return of a date.
Options:

1) Itinerary

2) Solitary

3) Summary

4) Anniversary

Correct Answer: Anniversary
Candidate Answer: Solitary

[t comim s AT ottt e 2 S Y WM =7 I



QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Self-rule.

Options:

1) Autonomy

2) Agronomy

3) Acronomy

4) Theonomy

Correct Answer: Autonomy
Candidate Answer: Autonomy

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:

1) Hedmistress

2) Headmistress

3) Headmestress

4) Headmistres

Correct Answer: Headmistress

Candidate Answer: Headmistress

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.

Options:

1) Billion

2) Bilion

3) Bellion

4) Billeon

Correct Answer: Billion

Candidate Answer: Bellion

QID : 69 - Rearrange the parts of the sentence in correct order.

Greed for natural

P: slavery and colonialism
Q: resources has been

R: the main reason behind

Options:

1) RPQ

2) RQP

3) QRP

4) PQR

Correct Answer: QRP
Candidate Answer: QRP

QID : 70 - Rearrange the parts of the sentence in correct order.

The child’s view

P: should be given due weight
Q: and maturity of the child
R: in accordance with the age

Options:

1) PRQ

2) RQP

3) QRP

4) PQR

Correct Answer: PRQ
Candidate Answer: PRQ

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

There are a of reasons why farmers in India are committing suicides. One of the main reasons is the weather conditions in the country. Global
warming has led to extreme weather conditions such as drought and floods in most parts of the country. Such extreme conditions lead to damaging of crops and the
farmers are with nothing. When the crop vield is not sufficient, the farmers are forced to take debt to fulfill their needs. Unable to repay the debt,

many farmers usually take the step of committing suicide.

There are a of reasons
Options:

1) number

2) numerous

3) agenda

4) bouquet

Correct Answer: number
Candidate Answer: numerous

[t comim s AT ottt e 2 S Y WM =7 I



QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

There are a of reasons why farmers in India are committing suicides. One of the main reasons is the weather conditions in the country. Global
warming has led to extreme weather conditions such as drought and floods in most parts of the country. Such extreme conditions lead to damaging of crops and the
farmers are with nothing. When the crop yield is not sufficient, the farmers are forced to take debt to fulfill their needs. Unable to repay the debt,

many farmers usually take the step of committing suicide.

reasons is the weather conditions
Options:

1) wonderful

2) erratic

3) soothing

4) amazing

Correct Answer: erratic

Candidate Answer: amazing

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

There are a of reasons why farmers in India are committing suicides. One of the main reasons is the weather conditions in the country. Global
warming has led to extreme weather conditions such as drought and floods in most parts of the country. Such extreme conditions lead to damaging of crops and the
farmers are with nothing. When the crop yield is not sufficient, the farmers are forced to take debt to fulfill their needs. Unable to repay the debt,
many farmers usually take the step of committing suicide.

the farmers are with nothing.

Options:

1) right

2) center

3) left

4) centre

Correct Answer: left
Candidate Answer: centre

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

There are a of reasons why farmers in India are committing suicides. One of the main reasons is the weather conditions in the country. Global
warming has led to extreme weather conditions such as drought and floods in most parts of the country. Such extreme conditions lead to damaging of crops and the
farmers are with nothing. When the crop yield is not sufficient, the farmers are forced to take debt to fulfill their needs. Unable to repay the debt,

many farmers usually take the step of committing suicide.

to fulfill their needs.
Options:

1) political

2) social

3) education

4) financial

Correct Answer: financial

Candidate Answer: education

QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

There are a of reasons why farmers in India are committing suicides. One of the main reasons is the weather conditions in the country. Global
warming has led to extreme weather conditions such as drought and floods in most parts of the country. Such extreme conditions lead to damaging of crops and the
farmers are with nothing. When the crop yield is not sufficient, the farmers are forced to take debt to fulfill their needs. Unable to repay the debt,

many farmers usually take the step of committing suicide.

takethe_ step
Options:

1) real

2) nominal

3) crucial

4) unfortunate

Correct Answer: unfortunate
Candidate Answer: real

QID : 76 - The"Atal Pension Yojana" (APS) is a scheme focused on workers in the

37ceT eI ISTT (APS) % A T Hiegd At &1

[t comim s AT ottt e 2 S Y WM =7 I



Options:

1) Industrial Sector
St &

2) Financial Sector
EIEESEN

3) Corporate Sector
FARe &F

4) Unorganised Sector
ST 81T

Correct Answer: Unorganised Sector

ITIITST 8T

Candidate Answer: Industrial Sector

shtezitfore &

QID : 77 - Which one of the following longitude determines the Indian Standard Time?

FFATITET AR T@3HT & I HiA-T 3@ HRT T TATOIT THAT T Pl 67
Options:

1)85.50E

85.50 g

2)86.50

86.50 7o

3)84.50F

84.50 g

4)82.50F

82.50 q&

Correct Answer: 82.50
82.50q@

Candidate Answer: 82.50 E
82.50qg

QID : 78 - What is the unabbreviated form of ICICI?

TSENIMSHINTS T T & F47 &2
Options:
1) Indian Credit Investment Corporation of India

51033 $hide sAdTeHTe HRURY 3T 50zaT

2) Industrial Credit and Investment Corporation of India

5UsfEeae hise W3 sratcdee HIAR 3iH 3i0sar

3) Indian Credit and Industrial Corporation of India

3053 S3TecaT TUS hise HruRe 3iMh siUsar

4) None of the option is correct.

5 off Rahew wey =77 B

Correct Answer: Industrial Credit and Investment Corporation of India
zUsfEeae hise T3 sratcaee HIaRe 3iE 3f0sar

Candidate Answer: Industrial Credit and Investment Corporation of India

SUSTECTS ShiSc UUS Sratediee IR ik sivzar

QID : 79 - Where is the Garampani Sanctuary located?

TRAITET IAROT gl Fe2ra &7
Options:

1) Karbi Anglong, Assam

2) Korba, Chhattisgarh

HRET, Bedl e

3) Rajgir, Bihar

TeaiR, f9ER

4) Mysore, Karnataka

I, e

Correct Answer: Karbi Anglong, Assam
Tl TaTeiaT, 3

Candidate Answer: Korba, Chhattisgarh
FIET, SIS

QID : 80 - The UNESCO World Heritage Site "Mahabodhi Vihar" is situated in which Indian state?

eEeht [T ERIER T "AgTale fagR" fhe IR Is9 & fFua §?




Options:

1) Madhya Pradesh
AL TeQr

2) Himachal Pradesh
AT waRr

3) Bihar

e

4) Maharashtra

HERISG

Correct Answer: Bihar
fagr

Candidate Answer: Bihar

faER

QID : 81 - The United Nations Organisation has declared the year 2017 as the International year for

T TS FITSA o a9 2017 F ST a¥ & w7 F 0YRa frar g
Options:

1) Pulses

qofgel

2) Family Farming

TR

3) Sustainable Tourism for development

T &g Fad wea

4) Light-based Technology

eI TR deheilh

Correct Answer: Sustainable Tourism for development
fare & Fad wdea

Candidate Answer: Pulses

cefgel

QID : 82 - Heavy water is

Y STt gl
Options:

1) Rain water

T ST

2) PH-7

dreg-7

3) Tritium Oxide

Afea siFarss

4) Deuterium Oxide

FIeRa siiTass

Correct Answer: Deuterium Oxide
i sitTass

Candidate Answer: Deuterium Oxide

FIeRTH Jfararss

QID : 83 - What is laughing gas?

e I 41 &7

Options:

1) Nitrous Oxide

ASEH JiFaTSs

2) Carbon Monoxide

FIEA AlAFSS

3) Sulphur Dioxide

TR SIE3iTATSs

4) Hydrogen Peroxide
FTSSISTARIFASS

Correct Answer: Nitrous Oxide
ASEH HFAFS

Candidate Answer: Nitrous Oxide
ASeH JiiFaTss

QID : 84 - The dimension formula of which of the following is the same as that of formula of impulse?

Frfafa # & fraer el g7 3mae & g9 & game 82




Options:

1) Volume

KIEGE)

2) Momentum

|97

3) Torque

el 3TEOT

4) Change in the rate of momentum

AT F aiaee T

Correct Answer: Momentum
GEE)

Candidate Answer: Torque
T JTEgoT

QID : 85 - When a ring of metal is heated what happens to its hole?

TS U U1 1 HTET AT Bool I AT AT § 7 30 3% 1 FAT Gl 67
Options:

1) Expands

et g

2) Contracts

R &

3) Expands or contracts according to its diameter

3T ST & FTHR terelr a1 RFgar &

4) Expands or contracts according to its coefficient of expansions

379y el 3 3[OTIeR % 3TAR rerelr AT Rspgar &

Correct Answer: Expands

Hoar g

Candidate Answer: Expands or contracts according to its coefficient of expansions

oY ST o 0TI K ITAR SeraT AT FAFsar &

QID : 86 - Study of fruits is called

ol ST eI FEATT &

Options:
1) Spermology
FaHfeTSi

2) Anthology
TSI

3) Pedology
eI

4) Pomology
iATTSI

Correct Answer: Pomology

GiATerTST

Candidate Answer: Anthology
TS

QID : 87 - Where is the pituitary gland located?

Options:
1) Brain
AT

2) Kidney
Tar

3) Liver
o

4) Intestine

o

3Ard
Correct Answer: Brain

Afeass

Candidate Answer: Brain

Afeass

QID : 88 - How does the pollination take place in maize?

HaepT H IRET0T Y gar g7




Options:

1) Self-pollination

EI-GIET0T

2) Pollination by insects

hret ZarT

3) Pollination by air

g gy

4) Pollination by rain

o gaRT TRIETOT

Correct Answer: Pollination by air
o Zar

Candidate Answer: Pollination by air
g T

QID : 89 - Who was awarded with the Nobel Prize for Literature in 2016?

Tifeed & foIT 2016 T =Aeel [REDR A et fhar arr &2
Options:

1) Bob Dylan

EICRECC

2) Juan Manuel Santos

3T Hefarer Hw

3) Oliver Hart

R gIe

4) J Michael Kosterlitz

ST ATShol e TorgaT

Correct Answer: Bob Dylan
CICRECC]

Candidate Answer: Bob Dylan
CIEAERC)

QID : 90 - Which of the following sectors contributed more to the savings in India?

HRA & fReafai@a et & 3§ fFas gart 31fte aaq &1 e §?
Options:

1) Public Sector

BICEICCE]

2) Household sector

o &

3) Corporate Sector

FRe &F

4) Private sector

st &

Correct Answer: Household sector
B &1
Candidate Answer: Public Sector

et &

QID : 91 - Which Governor General introduced the Permanent Settlement of Revenue in Bengal?

Sonrer 3 TR detaed fond fafeer a1aeie Sever gamr o famar aran?
Options:

1) Lord Clive

CIEEGIES]

2) Lord Hastings

s gfecaa

3) Lord Wellesley

S JorsTelr

4) Lord Cornwallis

TS Hlatariord

Correct Answer: Lord Cornwallis
TS SRlerariord

Candidate Answer: Lord Cornwallis

WS Rlvariord
QID : 92 - During whose reign Mughal painting reached its highest level?

Wamﬁwﬁﬁﬁaﬁfﬂ@?ﬁq@?




Options:

1) Akbar
3helT

2) Jahangir
ST

3) Shahjahan
QMESTET

4) Aurangzeb
e

Correct Answer: Jahangir
SRR
Candidate Answer: Aurangzeb

3R
QID : 93 - Development of Laterite soil is the result of which of the followings?

werse AP FT R 56 A frgerr aRone giar §?
Options:

1) deposits of alluvial

STelle & e

2) deposits of loess

vy & e

3) leaching

TR

4) continued vegetation cover
TIMAR FeAeafer 3TaRor
Correct Answer: leaching
ToraTTerT

Candidate Answer: leaching
IGISICC

QID : 94 - Where do we find the ideals of Indian democracy in the Constitution?

R & 3T HRCART Aehci™ & ST Y 67 Fl o Fohal &7
Options:

1) The Preamble

UEATdAT

2) Part 111

T 3

3) Part IV

HET 4

4) Part I

AT 1

Correct Answer: The Preamble
EATIAT

Candidate Answer: The Preamble
HEATIAT

QID : 95 - Who was the first speaker of Rajya Sabha?

ST THT & Tgeor TETET el A?
Options:

1) G.V. Mavalankar

Si.dr. AgeE

2) Balram Bhagat

EEMER TG

3) Sumitra Mahajan

e Hgrster

4) S. Radhakrishnan

TH. TSI

Correct Answer: S. Radhakrishnan
TE. JEMHSTT

Candidate Answer: G.V. Mavalankar
SiT. 9T, AT

QID : 96 - Which is the processor that performs arithmetical and logical operations called?

O 3R arfder St i Avafd e areT MR 4T Hgeltdr &7




Options:

1) CPU

g

2) ALU

Ty

3) Microprocessor
HATSHITHAET

4) RAM

kein

Correct Answer: ALU
TUg

Candidate Answer: RAM
ke: 1

QID : 97 - Who won the first medal for India at the Rio Olympics?

R 316 7 AR & TAT Igel G fohded Siiar?
Options:

1) Babita Kumari

Fterer AR

2) Narsingh Yadav

EE G

3) P.V. Sindhu

dr.dr. ﬁ?.or

4) Sakshi Malik

arefr Anfoes

Correct Answer: Sakshi Malik
|ty Ao

Candidate Answer: P.V. Sindhu
o iy

QID : 98 - Who developed Polio vaccine?

qiferar derdieT foreet fafaa 7
Options:

1) Marie Curie

A

2) Jonas Salk

AT Hioh

3) Louis Pasteur

TEH AR

4) Alexander Fleming

37elIFoIsT el THaT

Correct Answer: Jonas Salk

ST Tl

Candidate Answer: Jonas Salk

SATE HTeeh

QID : 99 - "Playing It My Way" is the autobiography of

"Col5aT 3 ATS 3" I JTcARAT g
Options:

1) Sauravy Ganguly

2) Sachin Tendulkar

R digeret

3) Virendra Sehwag

dNes FeEamT
4) M.S. Dhoni
TH.T. it

Correct Answer: Sachin Tendulkar
Candidate Answer: Sachin Tendulkar
. 5
QID : 100 - Which is the deep water port being constructed in Pakistan by the China?

TIRFEaTeT 3 HeT T TETIT § FIeT-HT I ST SEXINE FTIT 7 a7 &7




Options:

1) Gwadar

qeY

2) Karachi

T

3) Chabahar

RICIES

4) Saht-al-Arab
Ad-IeA-3R

Correct Answer: Gwadar
G

Candidate Answer: Saht-al-Arab
AA-3el-3RT



